
5286 5286.5 5287 5287.5 5288
cyclenum

0.5−

0

0.5

1

1.5

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 5963}

5286 5286.5 5287 5287.5 5288
cyclenum

1.5

2

2.5

3

3.5

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 5963}

5286 5286.5 5287 5287.5 5288
cyclenum

2−

1.5−

1−

0.5−

0

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 5963}

5286 5286.5 5287 5287.5 5288
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 5963}

5286 5286.5 5287 5287.5 5288
cyclenum

5961

5961.5

5962

5962.5

5963

5963.5

5964

5964.5

5965

ru
n

run:cyclenum {run == 5963}

5286 5286.5 5287 5287.5 5288
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 5963}



5286 5286.5 5287 5287.5 5288
cyclenum

101−

100.5−

100−

99.5−

99−

us
l_

1X

usl_1X:cyclenum {run == 5963}

5286 5286.5 5287 5287.5 5288
cyclenum

0.5−

0

0.5

1

1.5

us
l_

4a
Y

usl_4aY:cyclenum {run == 5963}

5286 5286.5 5287 5287.5 5288
cyclenum

43.6

43.8

44

44.2

44.4

44.6

44.8

45

45.2

45.4

45.6

45.8

us
l_

4e
X

usl_4eX:cyclenum {run == 5963}

5286 5286.5 5287 5287.5 5288
cyclenum

20.6

20.8

21

21.2

21.4

21.6

21.8

22

22.2

22.4

22.6

22.8

us
l_

4e
Y

usl_4eY:cyclenum {run == 5963}

5286 5286.5 5287 5287.5 5288
cyclenum

42.5−

42−

41.5−

41−

40.5−u
sl

_1
2X

usl_12X:cyclenum {run == 5963}

5286 5286.5 5287 5287.5 5288
cyclenum

5961

5961.5

5962

5962.5

5963

5963.5

5964

5964.5

5965

ru
n

run:cyclenum {run == 5963}



5286 5286.5 5287 5287.5 5288
cyclenum

147.5−

147−

146.5−

146−

145.5−

us
r_

1X

usr_1X:cyclenum {run == 5963}

5286 5286.5 5287 5287.5 5288
cyclenum

1

1.5

2

2.5

3

us
r_

4a
Y

usr_4aY:cyclenum {run == 5963}

5286 5286.5 5287 5287.5 5288
cyclenum

210.6

210.8

211

211.2

211.4

211.6

211.8

212

212.2

212.4

212.6

212.8

us
r_

4e
X

usr_4eX:cyclenum {run == 5963}

5286 5286.5 5287 5287.5 5288
cyclenum

14.6

14.8

15

15.2

15.4

15.6

15.8

16

16.2

16.4

16.6

16.8

us
r_

4e
Y

usr_4eY:cyclenum {run == 5963}

5286 5286.5 5287 5287.5 5288
cyclenum

44.5−

44−

43.5−

43−

42.5−

us
r_

12
X

usr_12X:cyclenum {run == 5963}

5286 5286.5 5287 5287.5 5288
cyclenum

5961

5961.5

5962

5962.5

5963

5963.5

5964

5964.5

5965

ru
n

run:cyclenum {run == 5963}



5286 5286.5 5287 5287.5 5288
cyclenum

22820

22820.5

22821

22821.5

22822

us
l_

co
il1

usl_coil1:cyclenum {run == 5963}

5286 5286.5 5287 5287.5 5288
cyclenum

3368.6

3368.8

3369

3369.2

3369.4

3369.6

3369.8

3370

3370.2

3370.4

3370.6

3370.8

us
l_

co
il3

usl_coil3:cyclenum {run == 5963}

5286 5286.5 5287 5287.5 5288
cyclenum

4406

4406.5

4407

4407.5

4408

us
l_

co
il4

usl_coil4:cyclenum {run == 5963}

5286 5286.5 5287 5287.5 5288
cyclenum

1364.5−

1364−

1363.5−

1363−

1362.5−us
l_

co
il6

usl_coil6:cyclenum {run == 5963}

5286 5286.5 5287 5287.5 5288
cyclenum

2066.5

2067

2067.5

2068

2068.5

us
l_

co
il7

usl_coil7:cyclenum {run == 5963}

5286 5286.5 5287 5287.5 5288
cyclenum

5961

5961.5

5962

5962.5

5963

5963.5

5964

5964.5

5965

ru
n

run:cyclenum {run == 5963}



5286 5286.5 5287 5287.5 5288
cyclenum

19772.4−

19772.2−

19772−

19771.8−

19771.6−

19771.4−

19771.2−

19771−

19770.8−

19770.6−

19770.4−

19770.2−

us
r_

co
il1

usr_coil1:cyclenum {run == 5963}

5286 5286.5 5287 5287.5 5288
cyclenum

2772−

2771.5−

2771−

2770.5−

2770−

us
r_

co
il3

usr_coil3:cyclenum {run == 5963}

5286 5286.5 5287 5287.5 5288
cyclenum

4025.6

4025.8

4026

4026.2

4026.4

4026.6

4026.8

4027

4027.2

4027.4

4027.6

4027.8

us
r_

co
il4

usr_coil4:cyclenum {run == 5963}

5286 5286.5 5287 5287.5 5288
cyclenum

689.8−

689.6−

689.4−

689.2−

689−

688.8−

688.6−

688.4−

688.2−

688−

687.8−

687.6−

us
r_

co
il6

usr_coil6:cyclenum {run == 5963}

5286 5286.5 5287 5287.5 5288
cyclenum

36652

36652.2

36652.4

36652.6

36652.8

36653

36653.2

36653.4

36653.6

36653.8

36654

36654.2

us
r_

co
il7

usr_coil7:cyclenum {run == 5963}

5286 5286.5 5287 5287.5 5288
cyclenum

5961

5961.5

5962

5962.5

5963

5963.5

5964

5964.5

5965

ru
n

run:cyclenum {run == 5963}



5286 5286.5 5287 5287.5 5288
cyclenum

281.5−

281−

280.5−

280−

279.5−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 5963}

5286 5286.5 5287 5287.5 5288
cyclenum

19.5−

19−

18.5−

18−

17.5−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 5963}

5286 5286.5 5287 5287.5 5288
cyclenum

301.5

302

302.5

303

303.5

1X
_c

oi
l7

1X_coil7:cyclenum {run == 5963}

5286 5286.5 5287 5287.5 5288
cyclenum

337−

336.5−

336−

335.5−

335−4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 5963}

5286 5286.5 5287 5287.5 5288
cyclenum

44−

43.5−

43−

42.5−

42−4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 5963}

5286 5286.5 5287 5287.5 5288
cyclenum

283.2

283.4

283.6

283.8

284

284.2

284.4

284.6

284.8

285

285.2

285.4

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 5963}



5286 5286.5 5287 5287.5 5288
cyclenum

175.6

175.8

176

176.2

176.4

176.6

176.8

177

177.2

177.4

177.6

177.8

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 5963}

5286 5286.5 5287 5287.5 5288
cyclenum

35

35.5

36

36.5

37

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 5963}

5286 5286.5 5287 5287.5 5288
cyclenum

13−

12.5−

12−

11.5−

11−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 5963}

5286 5286.5 5287 5287.5 5288
cyclenum

180.6

180.8

181

181.2

181.4

181.6

181.8

182

182.2

182.4

182.6

182.8

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 5963}

5286 5286.5 5287 5287.5 5288
cyclenum

28−

27.5−

27−

26.5−

26−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 5963}

5286 5286.5 5287 5287.5 5288
cyclenum

10.5−

10−

9.5−

9−

8.5−4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 5963}



5286 5286.5 5287 5287.5 5288
cyclenum

234−

233.5−

233−

232.5−

232−12
X

_c
oi

l1

12X_coil1:cyclenum {run == 5963}

5286 5286.5 5287 5287.5 5288
cyclenum

81.8−

81.6−

81.4−

81.2−

81−

80.8−

80.6−

80.4−

80.2−

80−

79.8−

79.6−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 5963}

5286 5286.5 5287 5287.5 5288
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 5963}

5286 5286.5 5287 5287.5 5288
cyclenum

5

5.5

6

6.5

7

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 5963}

5286 5286.5 5287 5287.5 5288
cyclenum

482−

481.5−

481−

480.5−

480−12
X

_c
oi

l7

12X_coil7:cyclenum {run == 5963}

5286 5286.5 5287 5287.5 5288
cyclenum

5961

5961.5

5962

5962.5

5963

5963.5

5964

5964.5

5965

ru
n

run:cyclenum {run == 5963}
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